Problem #2 Correction:

From the given information our table becomes:

	
	Rate
	Time
	Distance

	Up the slope
	800 ft/min
	
	

	Down the slope
	2640 ft/min
	
	


Since the total time for the round trip was 20 minutes, we know that
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Let 
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Subtracting x from both sides of this equation gives us
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So our table becomes

	
	Rate
	Time
	Distance

	Up the slope
	800 ft/min
	x
	800x

	Down the slope
	2640 ft/min
	20-x
	2640(20-x)


We then come up with
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Since x represents a time and we are looking for a distance, we can plug this value for x into the distance up the slope, 
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.  This gives us that the slope is approximately 
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